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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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['ETcl’, "optETcl’], 'LAl', ’optEtRate’]

['T", "Topt’], ['RH', 'RHopt'],

" lopt’ ],

Plot [['I",
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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G3-3

BrE) | GEBERTIC (B)) | EBE (EAH/#F) | EREE (B/R) | X8 R

06:35 92 60.0 1.296 FA| {Ri%@06:35 BHz (kAMEEE)
07:50 92 60.0 1.296 FA| 1BRi&@07:50 B3h (FKAIEREEE)
10:00 92 60.0 1.296 FH| 1Ri%@10:00 Bz (RAEERSE)
12:25 92 60. 0 1.296 PR 1Ri&@12:25 B (REAERSE)
23t 368.0 (4%) 240.0 323 %KEC: 3000.0, PH: 6.5

EIREBATHCR AR RZI (169 vs 92.0))

ZRIASLPRIERE110.0 ml.

REXFEBPH (10.36) S5i&%EPH (6.5) RERK, HFHRE
REXEBPH (10.36) 5FMPH (6.5) REKKA, BFHRE
HEEIRECE (2017.0 vs 3390.0) 535
ERGEBIPH (10.4) 5i8EME (6.5 RERKK, BHRE.

ERGEBIPH (10.4) S5EREW (6.5 RERK, HRE.




G3-3_0, Day=19 (2025-05-31)
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G3-3

BfiE) | GEBATK (7)) | ERE (EH/f) | ERERE (/R | XS SR

07:30 92 60.0 1. 296 FA| 1BRi%@07:30 B3 (KRAFEREE)
08:50 92 60.0 1.296 FH| 1{Ri%e08:50 B#1 (RFfERER)
11:10 92 60.0 1.296 FA| 1Bi&e11:10 B3 (GRAFEREE)
12:45 92 60.0 1.296 PR 1Ri&@12:45 B (RS
15:00 92 60.0 1.296 FA| 1BRi%@15:00 B3h (RAERESE)
Bit| 460.0 (5%) 300.0 323 KEC: 3000.0, PH: 6.5

EREBRIE LT (0.56 vs 0.63), FAIEER % MAEENEFEEEIKERE

LOREBRTC R IR RN (123 vs 92.0))

ZRIASERRIERES0. 0 ml.

REREBIPH (10.35) H5igEPH (6.5) REK K, HFRE
BEXEBIPH (10.35) 5FMPH (6.5) REK K, HRE
[B]/&REC 3780.0 K&, EiUF{KECAE&HEER
#[EKECE (2067.0 vs 3780.0) 35
LRGEBIPH (10.4) 5i8FE (6.5) RERKK, BFRE.
LORGEBIPH (10.4) S5#REE (6.5) REHKK, HRE.
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G3-3_0, Day=18 (2025-05-30)
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G3-3

BrE) | GEBIRTIC (B)) | EBE (EAH/#F) | EREE (B/R) | X8 R

08:40 62 60.0 1. 296 El 1BRi&e08:40 Bzl (GRAEREE)
10:00 62 60.0 1.296 | =| 1Ri%@10:00 Bz (kAFEREEE)
12:05 62 60. 0 1.296 (Z=| 1BRige12:05 Bzh (REERESE)
14:20 62 60. 0 1. 296 E| {Rig014:20 B3h (GRE{ERSE)
Bit| 248.0 (%) 240.0 3EWHKEC: 3000.0, PH: 6.5

EREBRE L TR (0.57 vs 0.63), FAIaER % MAEENEFEEEIKERE

ZRIASERRIERE60. 0 ml.

FERERPH (10.24) Hig

FEPH (6.5) REKK, BT

BEXRERBIPH (10.24) 5FMPH (6.5) REK K, HRE

BE X i# O] ;R ECEL B Hh k.

HEEIRECE (2113.0 vs 3595.0) 15

BERE L HEREC/PHIEBRSL, FIRESNMIREL RS
LRGEBIPH (10.4) 5i8FE (6.5) RERKK, BFRE.
LEORGEBIPH (10.4) S5#RBGE (6.5) REK K, HEE.




G3-3_0, Day=17 (2025-05-29)
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